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PARTI. Fill in the blank ( 9 points each. No partial credits)

2.If f(x)is a function satisfying f'(x) = ﬂx— y I ( y=a

03
Ly =p,
A 3 )
™
then I Fix)ydx= (express your answer in terms of a and &)
7 A

improper integral, then a=

and the value of the improper integral is

The interval of convergence of the power series E

4 (x—-2)" is
+1

. The line integral IF dr= , where F=— W+ Xt

4xt +p?’ V)
and C is the unit circle traced counterclockwise i
3
8. ”sin(9x2 +4yMydd=____, where R is part of the ellipse in the right figure. ﬁ\
= %
R 5 >
7

limL Q32 +43 4t =

-+ 37

8. The area of the region that is inside both curves: the cardioid r = 1+cos 8 and the
circler=11is

PART II. Show your work to get full credits. (14 points each)

. (a) Show that J‘xe”"dx—%—l—z— =1,2,3....

{b) Use above result to show that j

e -1 2

2. Let y=h{t)= Tro, then y satisfies the differential equation y“ S
(a} Find the function f(»).

{b)The function y=~A(t) has a unique inflection point in (0, =), find this point




